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Activity 2041. Design Real Use Cases
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Use Case deposit
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Type Primary and Essential

Cross Reference

System Function R.2

Pre-Requisites

ATMO]| =238t A\ zH7h 2-oi 7|2 HE2 7} {o{oF Btrh.
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Use Case remittance

Actor User

Purpose MEX}E HZte| =2 CHE MEXH ARt R s3 8t
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Type Primary and Essential

Cross Reference

System Function R.3

Pre-Requisites

ATMO]| 24238t A\ zH7h 2-oi 7|z HE2 7} {o{oF Btrh.




Typical Courses of Events

(A):Actor, (S):System
1.(A) User7} remittance HE & S2¢C}.
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14.(S) A2l £ A ZHU (Account.Balance)2 HEA|SHCE,

Alternative Courses of Events N/A
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Use Case

view_account_detail

Actor

User




Purpose ALERE7E d2det A EHo| Fhg Ho{E L.

Overview AER7L AR ZES| HES F21 AHAlo| A Xt E l=dstot
A ZEoL 2 Qle|™ U2iE A Zto| 2T E EAIBCH

Type Primary and Essential

Cross Reference

System Function R4

Pre-Requisites

ATMO]| =238t A\ zH7h 2o 7|z HE2 7} {o{oF Btrh.

Typical Courses of Events

(A):Actor, (S):System

1.(A) User?} view_account_detail HE S FEC}

2.(S) Azt I3 stHS =245t

3.(A) User= A ZH(inputlD)& &/=238tct

4.(S) Account.ID2} inputiDE H|1 & Qlstot

5.(S) HlIZ} password 2124 3t HE &=245tC}

6.(A) HIZH S (inputPW) & J248tCt

4.(S) Account.password®t inputPW 7t L x|5t=X| &It

5.(S) Q10| £/ Account.BalanceE 3tH0i| ZE A|EHCH
Alternative Courses of Events N/A

Exceptional Courses of Events
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Use Case Random_Jackpot
Actor User
Purpose £3 7|52 0|83tz Yol Ar8Xtol|H F72 5EHHE
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Type Primary and Essential

Cross Reference

System Function R.1.1

Pre-Requisites

N/A

Typical Courses of Events

(A):Actor, (S):System
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Use Case manage_ATM
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Type Primary and Essential

Cross Reference

System Function R.5

Pre-Requisites
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Typical Courses of Events

(A):Actor, (S):System

1.(A) Manager?} manage HE & F+&C}
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Activity 2042. Define Reports Ul, and Storyboards
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Activity 2043. Refine System Architecture

System Package

1

Timer

MoneyCount

-cal: Calendar
-JackpotNum: int

-Count50000: int
-Count10000: int
-Count5000: int
-Count1000: int

System_Control

-TotalMoney: int
-inputlD: int
-inputPW: int
-inputMoney: int
-UserCount: int
-inputMenu: int
-inputPOM: int
-input50000: int
-input10000: int
-input5000: int
-input1000: int

User Package

Account Card
-ID: int D int
-password: int -password: int
-Name: String
-Balance: int

|
DataBase Package
Bank Manager

-Name: String —
-BankCode: int -managerg)w{qt '
-isAccount: int -ManagerPW: ini




Activity 2044. Define Interaction Diagrams

1.withdraw

|interaction vathdraw

User: Actorl

1: input_menu()

% System_Control

?2 - display_withdraw_menu
i 3 nput_IOY)

e ’]J
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"" 12 : display_input_Money
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15 : input_PW{)
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1 searchCard|D{inputi O:int

checkCardlDnputl Doty

9 : checkedlD

< 10 cheekedid :

— > H

I e S (e A P et e P . e L H H
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:mm

[isAccourt=falsd
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23 : checkedPW
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2.deposi

t

}imﬁm deposit
i System_Control I MoneyCount | l Bank | EI

User: Actorl : : : i :
1: input_menu() _5 : H
]
2 : display_deposit_menu H
3:iput_100 4 - searchiB{inputiDrint); loop (1) J :
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3.remittance

|interaction remittance

A = =

User: Actorl :

1: input_menu()
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|interaction view_account_detad

9 checkedD

#: checkCardl D{nput! Doty

s

17 : searchCard(nput®W:irg)

loop (1) )

6 checkediD

5 : checkiD(inputiDzint)

O

1 : searchCard|D{input| O:int,
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view_account_detail_m

loop {17} )
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5.Random_Jackpot

interaction Random_Jackpot )

System_Control Timer

1: start()

2 : chcktime()

opt ischecktime )
3 .

:|updateJackpotNum()
[ischecktime=true]

4 : input_PW()

® r

.

%: checkJackpot(UserCount:iﬁ)

6 : checkedJackpot




6.manage_ATM

interaction Manage_ATM )

% System_Control Manager MoneyCount

Manager: Actorl

1 : input_menu()

checkID(inputID:ing)

<-é-:-(-:i1-e-c-lzé&if)-q]

a 6 : display_input_ MPW
7 @ input_MPW()

= 10 : display_input_POM

13 : input_amount()

loop (4 '
P )) 14 : ATMBalanceUpdate(inputMdney:int,inputcount:int,inputPOM:int)

T

11 : input_POM()




Activity 2045. Define Design Class Diagrams

MoneyCount

-Count50000: int
-Count10000: int
-Count5000: int
-Count1000: int

+AT! int, int, inputPOM: int): void
L Account
-ID: int
1 jashiave -password: int
1 -Name: String
-Balance: int

Bank

Timer Sysiem_Coatrol — * +checkiD(inputiD: int):int
~cal: Calendar TotalMoney: int Name: Stng. L +searchCardID(inputiD: int): int
-JackpotNum: int -inputlD: int A © Bool “HasHave +checkPW(inputPW: int): int

-inputPW: int -isAccount: Boolean +searchCard(inputPW: int): int

+start(): void
+checktime(): Boolean
+updateJackpotNum(): void

-inputMoney: int
-UserCount: int

+searchlD(inputlD: int): int
+checkPW(inputPW: int): int

+balanceAccount(inputMoney: int): int
+checkBalance(inputMoney: int): int
+getBalance(): int

+checkJackpot(UserCount: int): Boolean

w‘ LinputMenu: int 1 +balanceCount(inputMoney: int): int

-inputPOM: int +gethccountBalance(): int

T -input50000: int ashiare 1
“inputl0000: int

-input5000: int
-input1000: int

+input_menu(): void
+input_ID(): void
+input_amount(): void
+input_PW(): void
+updateBalance(): int
+input_MID(): void
+input_POM(): void
+input_MPW(): void

+Has/Have

Card

-ID: int

-password: int
+checkCardID(inputiD: int): int
+checkPW(inputPW: int): int

1
ve

1

+Has/H:

Manager

“ManagerlD: int
-ManagerPW: int

+checkID(inputlD: int): Boolean
+checkPW(inputPW: int): Boolean

Activity 2046. Design Traceability Analysis

[Method _______________________Jclass |

__w input_menu():void GUI_Interface
" _v input_ID(:void
input_RID():void
input_amount():void
input_PW():void
updateBalance():int
input_MID():void
input_MPW():void
input_POM():void
start():void
checktime():Boolean
updateJackpotNum():void
checkJackpot(UserCount:int):Boolean
searchlD(inputID:int):int
checkPW(inputPW:int):int
balanceCount(inputMoney:int):int
getAccountBalance():int
checkID(inputID:int):int
int):int
checkPW(inputPW:int):int
& searchCard(inputPW:int):int
\\\x balanceAccount(inputMoney:int):int
\‘\‘\& checkBalance(inputMoney:int)int
\\¥ getBalance():int
\\ checkCardID(inputID:int):int
\' checkPW(inputPW:int):int
| ATMBalanceUpdate(inputMoney:int,inputc

ount:int,inputPOM:int):void

1.input_menu
2.input_ID
3.input_PW

[Ref. | Function | | UseCase |
m JjackPot ——» jackPot
m withdraw

deposit

_, withdraw
X4
Q,l’,

—» deposit 7

——» remittance 4.input_amount

S.input_RID
6.input_MID
7.input_MPW
8.input_POM

remittance

view_account_detail _, view_account_detail

=
=
[
m manage_ATM —» manage ATM Timer

Bank

Account

Card

MoneyCount



